PROJECT: Hawaii Belt Road, Intersection Improvements at Police Station Road and Hualalai Road PROJECT NO: 11A-01-02 Net Length of Project: 0.14 Miles, 0.10 Miles STATE OF HAWAII DISTRICT: North Kona ISLAND: Hawaii JAS. W. GLOVER, LTD. ISEMOTO CONTRACTING SITE ENGINEERING, INC. **DEPARTMENT OF** COMPANY, LTD. TRANSPORTATION DATE ADVERTISED: Honolulu Star-Bulletin, Hawaii Tribune Herald, HIGHWAYS DIVISION West Hawaii Today - January 17, 2003 BIDS OPENED: February 20, 2003 COMPLETION TIME: Ninety (90) Working Days ITEM NO. ITEM QUANTITY UNIT USED UNIT PRICE **AMOUNT** UNIT PRICE **AMOUNT** UNIT PRICE **AMOUNT** UNIT PRICE **AMOUNT** 203.0100B Roadway Excavation 151 CY \$371.00 \$56.021.00 \$640.00 \$96.640.00 \$608.95 \$91,951.45 \$50.00 \$7,550.00 203.0210B Borrow Excavation 20 CY \$580.00 \$11,600.00 \$150.00 \$3,000.00 \$123.98 \$2,479.60 \$50.00 \$1,000.00 209.0100 Water Pollution and Erosion Control FA FA FA \$10,000.00 FA \$10,000.00 FA \$10,000.00 FΑ \$10,000.00 312.1000B Plant Mix Glassphalt Concrete Base Course 395 TON \$135.00 \$53,325.00 \$130.00 \$51,350.00 \$107.40 \$42,423.00 \$100.00 \$39,500.00 401.0400B Asphalt Concrete Pavement, Mix No. IV 124 TON \$202.00 \$25,048.00 \$280.00 \$34,720.00 \$25,700.00 \$3,186,800.00 \$100.00 \$12,400.00 606.5000B Guardrail, Type Strong Post W-Beam 300 LF \$48.00 \$14,400.00 \$28.00 \$8,400.00 \$29.90 \$8,970.00 \$30.00 \$9,000.00 606.7000B Terminal Section, Type FLEAT 350 EACH \$8,000.00 \$8,000.00 \$2,930.00 \$2,930.00 \$7,198,50 \$7,198.50 \$5,000.00 \$5,000.00 621.1300B Foundation and Post for Relocated Destination Sign 2 EACH \$1,300.00 \$2,600.00 \$2,060.00 \$4,120.00 \$1,162.85 \$2,325.70 \$750.00 \$1,500.00 621.4700B Type II Object Marker 5 EACH \$33.00 \$165.00 \$22.00 \$110.00 \$29.90 \$149.50 \$50.00 \$250.00 621.5000A Regulatory and Warning Sign, (10 square feet or less) 4 EACH \$120.00 \$480.00 \$580.00 \$2,320.00 \$107.45 \$429.80 \$75.00 \$300.00 621.5000B Regulatory and Warning Sign, (10 square feet or less) 5 EACH \$95.00 \$475.00 \$80.00 \$400.00 \$83.00 \$415.00 \$75.00 \$375.00 621.5100A Regulatory and Warning Sign, (10 square feet or less). EACH \$340.00 \$1,360.00 \$240.00 \$960.00 \$304.55 \$1,218.20 \$300.00 \$1,200.00 with post 621,5100B Regulatory and Warning Sign, (10 square feet or less), 4 EACH \$375.00 \$1,500.00 \$240.00 \$960.00 \$337.80 \$1,351.20 \$300.00 \$1,200.00 with post 621.5300B Regulatory and Warning Sign, (Greater than 10 square 2 EACH \$400.00 \$800.00 \$290.00 \$580.00 \$3,559,90 \$7,119.80 \$350.00 \$700.00 feet), with post 621.5301A Warning Sign with Post and Flashing Yellow Beacon 2 EACH \$900.00 \$1.800.00 \$3,920.00 \$7,840.00 \$802.90 \$1,605.80 \$350.00 \$700.00 Sheet No. 1 of 7 Sheets

PROJECT: Hawaii Belt Road, Intersection Improvements at Police Station Road and Hualalai Road

PROJECT NO.: 11A-01-02

Net Length of Project: 0.14 Miles, 0.10 Miles

ISLAND: Hawaii

DISTRICT: North Kona

DATE ADVERTISED: Honolulu Star-Bulletin, Hawaii Tribune Herald,

West Hawaii Today - January 17, 2003

BIDS OPENED: February 20, 2003

COMPLETION TIME: Ninety (90) Working Days

| W GLOVER LTD SEMOTO CONTRACTING SIT         |               |    | The state of the s |      |
|---|---------------|----|--|------|
| W. GLOVEN, LID.   ISEMOTO CONTRACTING   SIT | W. GLOVER, L1 | ). | ISEMOTO CONTRACTING  | SITE |

COMPANY, LTD.

E ENGINEERING, INC.

STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION

| <u> </u>  |   |          |           |            |             |            |             |            |             |            |             |
|-----------|---|----------|-----------|------------|-------------|------------|-------------|------------|-------------|------------|-------------|
| ITEM NO.  | ITEM  | QUANTITY | UNIT USED | UNIT PRICE | AMOUNT      |
| 621.5400A | Construction Sign with Two Posts  | 8        | EACH      | \$840.00   | \$6,720.00  | \$490.00   | \$3,920.00  | \$481.75   | \$3,854.00  | \$400.00   | \$3,200.00  |
| 621.5400B | Construction Sign with Two Posts  | 8        | EACH      | \$840.00   | \$6,720.00  | \$4,900.00 | \$39,200.00 | \$481.75   | \$3,854.00  | \$400.00   | \$3,200.00  |
| 621.5410A | Construction Sign without Posts   | 4        | EACH      | \$645.00   | \$2,580.00  | \$90.00    | \$360.00    | \$304.55   | \$1,218.20  | \$75.00    | \$300.00    |
| 621.5410B | Construction Sign without Posts   | 4        | EACH      | \$645.00   | \$2,580.00  | \$90.00    | \$360.00    | \$304.55   | \$1,218.20  | \$75.00    | \$300.00    |
| 621.8000B | Relocation of Existing Regulatory and Warning Sign                                  | 6        | EACH      | \$280.00   | \$1,680.00  | \$200.00   | \$1,200.00  | \$249.20   | \$1,495.20  | \$150.00   | \$900.00    |
| 621.8001B | Relocation of Existing Destination Sign   | 1        | EACH      | \$500.00   | \$500.00    | \$1,650.00 | \$1,650.00  | \$448.50   | \$448.50    | \$1,000.00 | \$1,000.00  |
| 622.0120A | Removal of Existing Highway Lighting Wood Pole,<br>Luminaire, and Wiring            | 1        | EACH      | \$1,160.00 | \$1,160.00  | \$810.00   | \$810.00    | \$886.00   | \$886.00    | \$500.00   | \$500.00    |
| 622.0121B | Highway Lighting Standard with Pole, Mast Arm,<br>Luminaire and Concrete Foundation | 5        | EACH      | \$6,500.00 | \$32,500.00 | \$7,000.00 | \$35,000.00 | \$4,740.00 | \$23,700.00 | \$4,500.00 | \$22,500.00 |
| 322.0122A | Highway Lighting with Wood Pole, Mast Arm, Luminaire and Wiring                     | 2        | EACH      | \$2,320.00 | \$4,640.00  | \$3,000.00 | \$6,000.00  | \$1,772.00 | \$3,544.00  | \$2,000.00 | \$4,000.0   |
| 622.0508A | Waterproof Fuse Connectors with Fuse and Appurtenances                              | 2        | EACH      | \$65.00    | \$130.00    | \$100.00   | \$200.00    | \$48.85    | \$97.70     | \$75.00    | \$150.0     |
| 622.0508B | Waterproof Fuse Connectors with Fuse and Appurtenances                              | 5        | EACH      | \$65.00    | \$325.00    | \$100.00   | \$500.00    | \$48.85    | \$244.25    | \$75.00    | \$375.00    |
| 322.5030A | Highway Lighting Ductline, One 2-Inch PVC,<br>Schedule 80, Direct Buried (150 L.F.) | LS       | LS        | LS         | \$18,900.00 | LS         | \$18,800.00 | LS         | \$18,314.85 | LS         | \$10,500.00 |
| 522.5030B | Highway Lighting Ductline, One 2-Inch PVC,<br>Schedule 80, Direct Buried (430 L.F.) | LS       | LS        | LS         | \$54,000.00 | LS         | \$48,360.00 | LS         | \$43,206.42 | LS         | \$30,100.0  |

JAS.

| PROJECT:  | Hawaii Belt Road, Intersection Improvements at Police Station Road and Hualalai Road                                     |          |           |             |              |             |             |             |                   |             |                            |
|-----------|--|----------|-----------|-------------|--------------|-------------|-------------|-------------|-------------------|-------------|----------------------------|
| PROJECT N | O.: 11A-01-02 Net Length of Project: 0.14 Miles, 0.10 I  | Miles    |           |             |              |             |             |             |                   |             |                            |
| ISLAND: H | awaii DISTRICT: North Kona   |          |           | JAS. W.     | GLOVER, LTD. | ISEMOTO     | CONTRACTING | SITE ENG    | SINEERING, INC.   |             | E OF HAWAII<br>RTMENT OF   |
|           | ERTISED: Honolulu Star-Bulletin, Hawaii Tribune Herald,<br>West Hawaii Today - January 17, 2003<br>ED: February 20, 2003 |          |           |             |              | COMF        | PANY, LTD.  |             |                   | TRANS       | SPORTATION<br>AYS DIVISION |
| COMPLETIO | ON TIME: Ninety (90) Working Days  |          |           |             |              |             |             |             |                   |             |                            |
| ITEM NO.  | ITEM   | QUANTITY | UNIT USED | UNIT PRICE  | AMOUNT       | UNIT PRICE  | AMOUNT      | UNIT PRICE  | AMOUNT            | UNIT PRICE  | AMOUNT                     |
| 622.5035B | Highway Lighting Ductline, One 2-Inch PVC,<br>Schedule 40, Concrete Encased (125 L.F.)                                   | LS       | LS        | LS          | \$22,600.00  | LS          | \$21,870.00 | LS          | \$21,405.92       | LS          | \$11,250.00                |
| 622.5040A | Highway Lighting Power Cable, No. 6, 3-Conductor and No. 8 Ground (450 L.F.)   | LS       | LS        | LS          | \$4,900.00   | LS          | \$4,900.00  | LS          | \$9,060.46        | LS          | \$3,150.00                 |
| 622.5040B | Highway Lighting Power Cable, No. 6, 3-Conductor and No. 8 Ground (650 L.F.)   | LS       | LS        | LS          | \$7,000.00   | LS          | \$3,400.00  | LS          | \$10,471.21       | LS          | \$4,550.00                 |
| 622.5045A | Highway Lighting Cable, No. 10, 2-Conductor (175 L.F.)   | LS       | LS        | LS          | \$1,100.00   | LS          | \$460.00    | LS          | \$814.00          | LS          | \$525.00                   |
| 622.5045B | Highway Lighting Cable, No. 10, 2-Conductor (175 L.F.)   | LS       | LS        | LS          | \$1,100.00   | LS          | \$460.00    | LS          | \$814.00          | LS          | \$525.00                   |
| 622.7000B | Highway Lighting Pullbox, Type A with Modified Cover   | 7        | EACH      | \$1,340.00  | \$9,380.00   | \$930.00    | \$6,510.00  | \$812.90    | \$5,690.30        | \$1,500.00  | \$10,500.00                |
| 622.8000A | Electric Service Ductline, One 2-Inch PVC, Schedule 40, Concrete Encased (60 L.F.)                                       | LS       | LS        | LS          | \$9,800.00   | LS          | \$11,770.00 | LS          | \$6,611.60        | LS          | \$5,400.00                 |
| 622.8500A | Electric Service Pullbox, 2 x 4  | 1        | EACH      | \$2,300.00  | \$2,300.00   | \$1,700.00  | \$1,700.00  | \$1,032.15  | <b>\$1,032.15</b> | \$1,200.00  | \$1,200.00                 |
| 622.9000A | Electric Service Equipment   | 1        | EACH      | \$6,300.00  | \$6,300.00   | \$3,500.00  | \$3,500.00  | \$4,078.70  | \$4,078.70        | \$2,500.00  | \$2,500.00                 |
| 622.9000B | Electric Service Equipment   | 1        | EACH      | \$4,500.00  | \$4,500.00   | \$3,000.00  | \$3,000.00  | \$2,712.85  | \$2,712.85        | \$2,500.00  | \$2,500.00                 |
| 623.2002A | Controller Assembly (Model 170 EX Traffic Signal Controller Unit Type 332A Cabinet & Auxiliary Equipment)                | 1        | EACH      | \$19,800.00 | \$19,800.00  | \$32,000.00 | \$32,000.00 | \$15,143.70 | \$15,143.70       | \$20,000.00 | \$20,000.00                |
| 623.2003A | Uninterruptible Power Supply Assembly, Cabinet and Auxiliary Equipment   | 1        | EACH      | \$8,300.00  | \$8,300.00   | \$11,500.00 | \$11,500.00 | \$6,338.50  | \$6,338.50        | \$20,000.00 | \$20,000.00                |
| 623.2025A | Type IV Traffic Signal Standard with Wood Pole, Tether Cable, Messenger Cable & Guy and Anchor                           | 4        | EACH      | \$6,155.00  | \$24,620.00  | \$8,500.00  | \$34,000.00 | \$4,718.35  | \$18,873.40       | \$5,000.00  | \$20,000.00                |
|           |  |          |           |             |              |             |             |             |                   |             |                            |
|           |  |          |           |             |              |             |             |             |                   | Sheet No.   | 3 of 7 Sheets              |

| PROJECT   | : Hawaii Belt Road, Intersection Improvements at Police Station Road and Hualalai Road                                    |          |           |            |              |                  |              |                        |                           |                          |  |
|-----------|---|----------|-----------|------------|--------------|------------------|--------------|------------------------|---------------------------|--------------------------|--|
| PROJECT   | NO.: 11A-01-02 Net Length of Project: 0.14 Miles, 0.10  | Miles    |           |            |              |                  |              |                        |                           |                          |  |
| ISLAND: I |   | wiiiea   |           | JAS. W.    | GLOVER, LTD. | ISEMOTO          | CONTRACTING  |                        |                           |                          | OF HAWAII                              |
|           | ÆRTISED: Honolulu Star-Bulletin, Hawaii Tribune Heraid,<br>West Hawaii Today - January 17, 2003<br>NED: February 20, 2003 |          |           |            |              |                  | PANY, LTD.   | SILE ENG               | INEERING, INC.            | TRANS                    | RTMENT OF<br>PORTATION<br>AYS DIVISION |
| COMPLET   | ON TIME: Ninety (90) Working Days   |          |           |            |              |                  |              |                        |                           |                          |  |
| ITEM NO.  | ITEM  | QUANTITY | UNIT USED | UNIT PRICE | AMOUNT       | UNIT PRICE       | AMOUNT       | LINIT DDIOE            | <b>A.1.</b> (1)           |                          |  |
| 623.2050A | Foundation for Controller Cabinet/UPS   | 1        | EACH      | \$6,800.00 | \$6,800.00   | \$2,400.00       | \$2,400.00   | UNIT PRICE             |                           | UNIT PRICE               | AMOUNT                                 |
| 623.3000A | Traffic Signal Assembly (One-Way, 12-Inch, 1-3 Section Vertical with Bracket Mounting)                                    | 4        | EACH      | \$1,140.00 | \$4,560.00   | \$1,100.00       | \$4,400.00   | \$4,499.40<br>\$870.60 | \$4,499.40<br>\$3,482.40  | \$4,500.00<br>\$1,000.00 | \$4,500.00<br>\$4,000.00               |
| 623.3001A | Traffic Signal Assembly (One-Way, 12-Inch, 1-3 Section Span Wire Mounting) with Back Plate                                | 10       | EACH      | \$1,500.00 | \$15,000.00  | \$1,200.00       | \$12,000.00  | \$1,126.00             | \$11,260.00               | \$1,400.00               | \$14,000.00                            |
| 623.3700A | Opticom Receiver (TPIW-EVP Mounting)  | 3        | EACH      | \$1,300.00 | \$3,900.00   | \$900.00         | \$2,700.00   | #004.00                |                           |                          |  |
| 623.5000A | Traffic Signal Ductline, One 2-Inch Conduit, Schedule 80, Direct Buried (1,100 L.F.)                                      | LS       | LS        | LS         | \$132,900.00 | LS               | \$107,400.00 | \$981.00 LS            | \$2,943.00<br>\$96,848.00 | \$900.00 LS              | \$2,700.00<br>\$77,000.00              |
| 623.5010A | Traffic Signal Ductline, Three 2-Inch Conduit, Schedule 80, Direct Buried (20 L.F.)                                       | LS       | LS        | LS         | \$3,790.00   | LS               | \$3,290.00   | LS                     | \$1,760.90                | LS                       | \$2,200.00                             |
| 623.5020A | Traffic Signal Ductline, Four 2-Inch Conduit, Schedule 40, Concrete Encased (180 L.F.)                                    | LS       | LS        | LS         | \$24,200.00  | LS               | \$32,920.00  | LS                     | \$15,847.85               | LS                       | \$21,600.00                            |
| 623.6000A | Type A Pulibox  | 9        | EACH      | \$1,600.00 | \$14,400.00  | \$1,400.00       | \$12,600,00  | <b>CO40</b> 00         |                           |                          |  |
| 623.6010A | Type B Pullbox  | 1        | EACH      | \$2,530.00 | \$2,530.00   | \$1,600.00       | \$12,600.00  | \$812.90               | \$7,316.10                | \$1,200.00               | \$10,800.00                            |
| 623.6020A | Type C Pullbox  | 1        | EACH      | \$2,750.00 | \$2,750.00   | \$2,000.00       | \$1,600.00   | \$983.45               | \$983,45                  | \$1,500.00               | \$1,500.00                             |
| 623.7010A | No. 6, 3-Conductor Power Cable & No. 8 Ground (100 L.F.)  | LS       | LS        | LS         | \$1,080.00   | \$2,000.00<br>LS | \$2,000.00   | \$1,154.00             | - \$1,154.00              | \$2,500.00               | \$2,500.00                             |
| 623.7020A | No. 14, 26-Conductor Traffic Control Cable (200 L.F.)   | LS       | LS        | LS         | \$1,360.00   |                  | \$800.00     | LS                     | \$825.05                  | LS                       | \$800.00                               |
| 623.7030A | No. 14, 4-Conductor Signal Drop Cable (2,100 L.F.)  | LS       | LS        | LS         |              | LS               | \$1,100.00   | LS                     | \$1,041.00                | LS                       | \$2,000.00                             |
| 623.7040A | No. 16, 2-Conductor Loop Detector Lead-In Cable (2,500 L.F.)  | LS       | LS        |            | \$5,400.00   | LS               | \$3,900.00   | LS                     | \$4,128.10                | LS                       | \$6,300.00                             |
|           |   |          |           | LS         | \$6,285.00   | LS               | \$5,100.00   | LS                     | \$4,823.00                | LS                       | \$7,500.00                             |
|           |   |          |           |            |              |                  |              |                        |                           | Sheet No. 4              | ·                                      |

PROJECT: Hawaii Belt Road, Intersection Improvements

at Police Station Road and Hualalai Road

PROJECT NO.: 11A-01-02

Net Length of Project: 0.14 Miles, 0.10 Miles

ISLAND: Hawaii

DISTRICT: North Kona

DATE ADVERTISED: Honolulu Star-Bulletin, Hawaii Tribune Herald, West Hawaii Today - January 17, 2003

BIDS OPENED: February 20, 2003

COMPLETION TIME: Ninety (90) Working Days

| JAS. W. GLOVER, LTD. | ISEMOTO CONTRACTING | SITE ENGINEERING, INC. |
|----------------------|---------------------|------------------------|
|                      | COMPANY, LTD.       |                        |

STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION

|           |  | <del></del> |           |            |             |                                       |             |                                       |                                       |            |               |
|-----------|--|-------------|-----------|------------|-------------|---------------------------------------|-------------|---------------------------------------|---------------------------------------|------------|---------------|
| ITEM NO.  | ITEM   | QUANTITY    | UNIT USED | UNIT PRICE | AMOUNT      | UNIT PRICE                            | AMOUNT      | UNIT PRICE                            | AMOUNT                                | UNIT PRICE | AMOUNT        |
| 623.7070A | No. 20, 3-Conductor Opticom Receiver Cable (900 L.F.)                                  | LS          | LS        | LS         | \$4,980.00  | LS                                    | \$4,300.00  | LS                                    | \$3,812.45                            | LS         | \$2,700.00    |
| 623.7080A | Preformed Loop Detector Sensing Unit, 6' x 6'  | 2           | EACH      | \$1,520.00 | \$3,040.00  | \$1,000.00                            | \$2,000.00  | \$1,160.20                            | \$2,320.40                            | \$1,000.00 | \$2,000.00    |
| 623.7081A | Preformed Loop Detector Sensing Unit, 6' x 40'   | 6           | EACH      | \$2,700.00 | \$16,200.00 | \$2,400.00                            | \$14,400.00 | \$2,061.25                            | \$12,367.50                           | \$2,000.00 | \$12,000.00   |
| 623.7082A | Preformed Loop Detector Sensing Unit, 6' x 60'   | 2           | EACH      | \$4,080.00 | \$8,160.00  | \$3,500.00                            | \$7,000.00  | \$3,126.40                            | \$6,252.80                            | \$2,400.00 | \$4,800.00    |
| 623.9005A | Traffic Signal Service Equipment   | 1           | EACH      | \$3,540.00 | \$3,540.00  | \$2,800.00                            | \$2,800.00  | \$2,712.85                            | \$2,712.85                            | \$2,500.00 | \$2,500.00    |
| 623.9050A | County of Hawaii Charges for Technical Assistance (Programming, Testing, and Start-up) | FA          | FA        | FA         | \$10,000.00 | FA                                    | \$10,000.00 | FA                                    | \$10,000.00                           | FA         | \$10,000.00   |
| 629.1011A | 4-Inch Pavement Striping (Thermoplastic Extrusion)                                     | 1890        | LF        | \$1.65     | \$3,118.50  | \$2.00                                | \$3,780.00  | \$1.50                                | \$2,835.00                            | \$1.50     | \$2,835.00    |
| 629.1011B | 4-Inch Pavement Striping (Thermoplastic Extrusion)                                     | 1748        | LF        | \$1.65     | \$2,884.20  | \$2.00                                | \$3,496.00  | \$1.50                                | \$2,622.00                            | \$1.50     | \$2,622.00    |
| 629.1012B | 6-Inch Pavement Striping (Thermoplastic Extrusion)                                     | 80          | LF        | \$3.35     | \$268.00    | \$11.00                               | \$880.00    | \$3.00                                | \$240.00                              | \$2.50     | \$200.00      |
| 629.1013A | 8-Inch Pavement Striping (Thermoplastic Extrusion)                                     | 1336        | LF        | \$3.35     | \$4,475.60  | \$3.00                                | \$4,008.00  | \$3.00                                | \$4,008.00                            | \$3.50     | \$4,676.00    |
| 629.1013B | 8-Inch Pavement Striping (Thermoplastic Extrusion)                                     | 1540        | LF        | \$3.35     | \$5,159.00  | \$3,00                                | \$4,620.00  | \$3.00                                | \$4,620.00                            | \$3.50     | \$5,390.00    |
| 629.1014A | 12-Inch Pavement Striping (Thermoplastic Extrusion)                                    | 80          | LF        | \$5.00     | \$400.00    | \$11.00                               | \$880.00    | \$4.50                                | \$360.00                              | \$6.00     | \$480.00      |
| 629.1014B | 12-Inch Pavement Striping (Thermoplastic Extrusion)                                    | 245         | LF        | \$5.00     | \$1,225.00  | \$9.00                                | \$2,205.00  | \$4.50                                | \$1,102.50                            | \$6.00     | \$1,470.00    |
| 629.1020B | Crosswalk Marking (Thermoplastic Extrusion)  | 4           | LANE      | \$400.00   | \$1,600.00  | \$250.00                              | \$1,000.00  | \$360.00                              | \$1,440.00                            | \$250.00   | \$1,000.00    |
| 629.1030A | Pavement Arrow (Thermoplastic Extrusion)   | 10          | EACH      | \$337.00   | \$3,370.00  | \$240.00                              | \$2,400.00  | \$304.55                              | \$3,045.50                            | \$225.00   | \$2,250.00    |
| 629.1030B | Pavement Arrow (Thermoplastic Extrusion)   | 10          | EACH      | \$337.00   | \$3,370.00  | \$190.00                              | \$1,900.00  | \$304.55                              | \$3,045.50                            | \$225.00   | \$2,250.00    |
|           |  |             |           |            |             |                                       |             |                                       |                                       |            |               |
|           |  |             |           |            |             | · · · · · · · · · · · · · · · · · · · |             | · · · · · · · · · · · · · · · · · · · | · · · · · · · · · · · · · · · · · · · | Sheet No.  | 5 of 7 Sheets |

PROJECT: Hawaii Belt Road, Intersection Improvements at Police Station Road and Hualalai Road PROJECT NO.: 11A-01-02 Net Length of Project: 0.14 Miles, 0.10 Miles ISLAND: Hawaii DISTRICT: North Kona STATE OF HAWAII JAS. W. GLOVER, LTD. ISEMOTO CONTRACTING SITE ENGINEERING, INC. **DEPARTMENT OF** DATE ADVERTISED: Honolulu Star-Bulletin, Hawaii Tribune Herald, COMPANY, LTD. TRANSPORTATION West Hawaii Today - January 17, 2003 HIGHWAYS DIVISION BIDS OPENED: February 20, 2003 COMPLETION TIME: Ninety (90) Working Days ITEM NO. ITEM QUANTITY UNIT USED UNIT PRICE AMOUNT UNIT PRICE AMOUNT UNIT PRICE **AMOUNT** UNIT PRICE AMOUNT 629.1040B Pavement Symbol (Shark's Teeth Marking) 8 **EACH** \$374.00 \$2,992.00 \$190.00 (Thermoplastic Extrusion) \$1,520.00 \$337.75 \$2,702.00 \$50.00 \$400.00 629.2010B Type A Pavement Markers 28 EACH \$9.00 \$252.00 \$9.00 \$252.00 \$8.05 \$225.40 \$9.00 \$252.00 629.2030A Type C Pavement Markers 67 **EACH** \$9.00 \$603.00 \$7.00 \$469.00 \$8.05 \$539.35 \$9.00 \$603.00 629.2030B Type C Pavement Markers 79 EACH \$9.00 \$711.00 \$7.00 \$553.00 \$8.05 \$635.95 \$9.00 \$711.00 629.2040A Type D Pavement Markers 21 **EACH** \$9.00 \$189.00 \$9.00 \$189.00 \$8.05 \$169.05 \$9.00 \$189.00 629.2040B Type D Pavement Markers 34 EACH \$9.00 \$306.00 \$9.00 \$306.00 \$8.05 \$273.70 \$9.00 \$306.00 629.2070A Type H Pavement Markers 34 EACH \$9.00 \$306.00 \$9.00 \$306.00 \$8.05 \$273.70 \$9.00 \$306.00 629.2070B Type H Pavement Markers 19 **EACH** \$9.00 \$171.00 \$9.00 \$171.00 \$8.05 \$152.95 \$9.00 \$171.00 629.3050B Pavemet Bike Route Symbol (Biker and Arrow) (Paint) 2 EACH \$165.00 \$330.00 \$150.00 \$300.00 \$149.50 \$299.00 \$225.00 \$450.00 636.0200 Field Office (Not to Exceed \$32,000) LS LS LS \$32,000.00 LS \$28,200.00 LS \$32,000.00 LS \$32,000.00 Additional Police Officers and/or Additional Traffic 645.0200 FΑ ·FA FA \$20,000.00 FΑ \$20,000.00 Control Devices FA \$20,000.00 FA \$20,000.00 699,1000 Mobilization (not to exceed 10% of the sum of all items LS LS LS \$70,085.70 LS excluding the bid price of this item, field office, and force \$72,000.00 LS \$60,098,49 LS \$46,776.00 account items)

Sheet No. 6 of 7 Sheets

PROJECT: Hawaii Belt Road, Intersection Improvements at Police Station Road and Hualalai Road PROJECT NO.: 11A-01-02 Net Length of Project: 0.14 Miles, 0.10 Miles STATE OF HAWAII ISLAND: Hawaii DISTRICT: North Kona JAS. W. GLOVER, LTD. ISEMOTO CONTRACTING SITE ENGINEERING, INC. DEPARTMENT OF COMPANY, LTD. TRANSPORTATION DATE ADVERTISED: Honolulu Star-Bulletin, Hawaii Tribune Herald, West Hawaii Today - January 17, 2003 HIGHWAYS DIVISION BIDS OPENED: February 20, 2003 COMPLETION TIME: Ninety (90) Working Days

|    | ITEM NO. | ITEM                          | QUANTITY | UNIT USED | UNIT PRICE | AMOUNT       | UNIT PRICE | AMOUNT       | UNIT PRICE | AMOUNT           | UNIT PRICE | AMOUNT       |
|----|----------|-------------------------------|----------|-----------|------------|--------------|------------|--------------|------------|------------------|------------|--------------|
|    |          | Sum of All Items              |          |           |            | \$866,400.00 |            | \$897,905.00 |            | * \$3,904,632.00 |            | \$586,537.00 |
| ٠. |          | A. Hawaii Products            |          |           |            | \$0.00       |            | \$0.00       |            | \$0.00           |            | \$0.00       |
|    |          | B. In-State Contractor        |          |           |            | \$0.00       |            | \$0.00       |            | \$0.00           |            | \$0.00       |
|    |          | AMOUNT FOR COMPARISON OF BIDS |          |           |            | \$866,400.00 |            | \$897,905.00 |            | * \$3,904,632.00 |            | \$586,537.00 |

\* Corrected Figure

Note: A indicates items for Police Station Road B indicates items for Hualalai Road

Project Manager:

Christine Yamasaki April 3, 2003

Date: